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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 35 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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i) @yt ¥ ST &

(ii) ¥ &I 1-10 % UF 36 & & | 37 o7 & I 20 Ieg) @ 371e% 787 517
T1EY |

(iii) ¥97 GEIT 11 - 20 % 3t 3% & 3 | 57 Fo41 & I 40 5] @ 3714 787 517
1Y |

(iv) o7 G&IT21- 30 T WR 3H & & | 57 I941 & I 100 7155 & 3718 757
gl 1T |

(v) I97 G&I7 31 - 35 0% B: AJH & & | 37 Fo1 & I 150 V5] G 3715 731
g1 =3y |

(vi) 97 G&IT 30 FElE W NG 397 & | 39 IR 3797 FR-GIeaahr 7
ferfaa |

General Instructions :
(i) All questions are compulsory.

(it)  Questions number 1- 10 are of 1 mark each. The answers to these
questions should not exceed 20 words each.

(iti) Questions number 11- 20 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

(iv)  Questions number 21— 30 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

(v) Questions number 31— 35 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

(vi) Question number 30 is a map-based question. Write its answers in your
answer-book.

1. 1947 U YRA o fA9SH & 99" -8 2 Il sl 98 & STUR T (el T
o ? 2xé=1

Which two provinces were divided on the basis of religion at the time of
partition of India in 1947 ?

9. G Sif=r TR =T T3 <hel 30T T 53T T/IT o 2 é+é=1
When and why was Shah Commission appointed ?
3. W FAIE Alfgd 4 N-HUEdTE o 9 H hid-81 Sgiideh deh feam o 2 1

Which theoretical argument did Ram Manohar Lohia give in defence of
Non-Congressism ?
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ent feature of Article 37 0 of the Indian Constitution.

5. aa-aﬂammﬁ' [ | o AR g 2 1
What is meant by party-based movements ?

6.  T¥H (SAARC) % T&J I3 H1 Joi@ HINT | 1
Mention the main objective of SAARC.

7. HedTe wrifd @ w1 SR g 2 1
What is meant by ‘bandwagon’ strategy ?

8. TSy fRE YR FIE T Tk ad @ ? 1
How is an alliance a component of security ?

9. E.uiT (JAEA) &1 qU 9W foifan | g fopa fore sm ¢ 2 “+2=1
Write the full form of IAEA. Why did it come into being ?

10. gfeem & 4 Tg-uy fagra o1 ufure @i fopam 2 1

Why did Muslim League propose the ‘two nation theory’ ?

11.  ‘ofis %RE 1 Tieshda 3% 3fear o UM & R SH1 a1 8 2 39T A
AT T HEhRI JMEIe 70 39 § Teh TSN 3R HIUR Hied ¥l o1 2 1+1=2

Why is ‘Verghese Kurien’ nicknamed as ‘Milkman of India’ ? How did his
Amul pattern of cooperative movement become a uniquely appropriate
model in itself ?

12. RAIERR FAET GRT SRR H 98cl SR hRgAEe WTel s BThR hal 3R hd
R 1+1=2

Where and when did the Communist Party government come to power for
the first time in the world through democratic elections ?

13. “g& &I fagw ifq & frdl g g3 ewal =t IR Fif | 2x1=2
Highlight any two major main objectives of Nehru’s foreign policy.
14. gfotd 9o o g 33T 7T fohedil g1 eI o1 Sooid whilvg | 2x1=2

Mention any two issues raised by the Dalit Panthers.

15. TSSEH TR ¥ T U B ? AR H gl TR W ST TLHT hl S hel

1 1
r) _ _——
§16§31T. 12+2 2

What is meant by Coalition Government ? When did the era of coalition
governments start at the Central level in India ?
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e nd v vpenen Flag, what does the symbol of ‘twelve golden stars’
signify ?

17. Toegi Q1 fovaeardt aresfe awget < g dfvm | 2x1=2

Mention any two examples of global public goods.

18. ‘“Weh-dY < fohegl G REIHI ol IR AT | 2x1=2
Highlight any two consequences of ‘Shock Therapy’.

19. Te-fRue sAige (NAM) % foregl g1 dxemdes deed <o & 91 fafem | 2x1=2

Name any two founder member countries of Non-Aligned Movement (NAM).

20. dvdiRtu I gftdamn hifvie | Svdier f foRHl T STl T 3o
HITST | 1+1=2

Define globalisation. Mention any one criticism of globalisation.

21. HEICHT e 9 15 T, 1947 & faq Taqaar feam o foret off Soa Oy =
T foam 2 wm hifsu | 4

Why did Mahatma Gandhi not participate in any of the Independence
Day celebrations on 15th August, 1947 ? Explain.

22.  AvliR B w7 FAMUR 7 2 Avhur o foregl i Toifaes gftomm ki same
HIST | 1+3=4

What is meant by globalisation ? Explain any three political
consequences of globalisation.

23. 1971 § 9Rd 311 Hifowd g9 g fre gfy @ g&ater foru T ofiv <=1 2 369
AT oh! AT STTRATEH e o1 2 1+42+1=4

Which treaty was signed between India and the Soviet Union in 1971 and
why ? What did it assure India ?

24. 1975 <hl IMUTdRTA <hl TN & 987 U9 fomie & @1-ar qeh fafigu | 2x2=4

Give two arguments each in favour and against the emergency of 1975.
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i) fomediwmaegfmmasg?

(i) TA.AA3Z. F faega wv fafew |

(i) TAIAAZ. H geF gt o off 2

(iv) US98 -8 TSHITdeh hd hid T TITE L &M & 2

4dx1=

Study the cartoon given below carefully and answer the following questions :

(1) The given cartoon is related to which country ?

(i1))  What is the full form of LTTE ?

(iii) What was the main demand of LTTE ?

(iv)  Rajapakse is trying to perform which political act ?
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,,,,,, et 7 questions are for the BLIND CANDIDATES only, in
lieu of Question No. 25.

frefefaa weat @ s fofen 4x1=4
() TAAAZ. (LTTE) #1 faeqa w9 fafey |

(i) TA.AEZ. (LTTE) &1 avs-9 fra qm a0 8 2

(i) TA. Q3. (LTTE) i g3 9i1 =1 off 2

(iv) S FoY & 1 AN 8 ?

Answer the following questions :

(1) What is the full form of LTTE ?

(ii)) LTTE is related to which country ?

(iii) What was the main demand of the LTTE ?
(iv)  What is meant by ethnic conflict ?

26. UHl fhdl 9N arEafaehdrsti &1 Seo@ shitve M 3fid Ig & Jvamq fova
Toifa =t sea feam | 4x1=4

Mention any four realities that changed the world politics after the Cold
War.

27. 3id gg o qvard 3¢ foheel AR dfeses aitedHi o1 avi hifg, S |g® Y
JTTETIh IR A o fofT 9159 @ 7 | 4x1=4

Describe any four global changes that have occurred after the Cold War,
compelling the United Nations to bring about necessary reforms.

28. ‘Afvges wrEh wugr @ w1 AU B ? SR AT & fau fohdl @ =Ron @

REEICRAI 2+2=4

What is meant by ‘Global Commons’ ? Suggest any two steps for the
protection of ‘Global Commons’.

29. YT i FR&IT WHITG o fohegl TR Teehi shi =me HIfT | 4x1=4

Explain any four components of India’s security strategy.
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() 98 Usa 9§l § Q@ v o . g Feifa ge a |
(i) ST 1996 & A 1997 T & @ TEHHA & T |
(i) a8 TS raeht Tree oed A= (1977 — 79) o T&qF A o |

(iv) 98 USH &l 1952 ¥ 1967 deh I3[ hi-hd hl YR o1 @l |
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ooiodva PN o s | D. Identify them with the help of the information given
below and write their correct names in your answer book along with their

respective serial numbers and the alphabets concerned :

(1) The State wherefrom former Prime Minister V.P. Singh was elected.

(ii))  The former Prime Minister from June 1996 to April 1997 belonged
to this State.

(111) The State to which the Chairman of Mandal Commission
(1977 — 79) belonged.

(iv) The State where the National Conference ruled from 1952 to 1967.
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coe Y viowg questions are for the BLIND CANDIDATES only, in
lieu of Question No. 30.
frfaRad st & 3 T 4x1=4
()  qd v L. g e ase @ et g g 2
(i) WSA AR (1977 — 79) I HLAE B o1 ?
(i) & U TR U9 fhE UsT | grEtea o ?
(iv) I SR % ¢ @ 99 TaHE &1 9 ey |

Answer the following questions :

1) The former Prime Minister V.P. Singh was elected from which
State ?

(i1) Who was the Chairman of the Mandal Commission (1977 — 79) ?
(iii) The former Prime Narasimha Rao belonged to which State ?

(iv) Name the former Prime Minister who remained in office for the
shortest tenure.

31. TAAAT < ITATd, WRA TSHITdeh qNGIT H THINT 1 SR dh Hidd I1el

TYcd ST W@ | HERh fohrgl iF ShIehi ol HodTohd hitrg | 3x2=6
YT

TEO TN ASHT o GNH STk oo™ don HiY fas & 99 o fou Y

-1 &I dohi ohi ST HITTT | 3+3=6

Evaluate any three factors that helped the Congress Party to continue to
dominate the Indian political scenario for almost three decades after
independence.

OR

Explain the three main arguments each that ensued in favour of
industrialisation and agricultural development at the time of the Second
Five Year Plan.
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$Y Iddled b 31T T Fai=enl o A1 Al fagemor Hifsu | 3+3=6
aTqaT

1977 % TG o G, shg W T9&lt Tl ! THR 1 | 36 IGA oh Thral ©:
HROT T forgetyor KT | 6x1=6

Examine the grave economic crisis prior to the fourth general elections of
1967 in India. Analyse the verdict of the electorate based on this election.

OR

It was for the first time in India that the 1977 elections saw the
opposition coming to power at the Centre. Analyse any six reasons for
this change.

33. fi=fafga s = dfen 3t sa fi= fog gt & s & 3x2=6

3O Ugd ol fedl, TEA-l, HEEIA T HEWHe &E W
JH-3cfied & fgams wm FH a0 gfgen aqg AMIR W gl meyariia
Afgest o o= & AhRT ¥ 3R IE 91a Q o W AL 2l off | Afgen gl %
TAq YA H I8 e foshiid i IE g3 b 3TRdl W EH 9 IR AR
Wififeh YeWTd &1 HHAT T Sied 8 | 33d ¢ o QI Higall SATgieH
TiER % e 37T 35k ST B aTelt A feen % gegi W Higa wr | = wgl
I @y & Raas gien Toms it <ifies o % fagrea W emenf@

SfFTA Td Fufd AT <l /T I |

94

i)  <ifires dYeure’ @ F AR B 2 399 wrafea el @ g o
o 38T T |

(i)  <ifieh YGHTE ! THTH i & [oTT HI5 gl IUTT ST |

(i) TfEest | fhu I 9 =R % fohegl g gaal 1 Seoi@ hifg |
T TR ! TUTH HL T T8 IHTESA FhT HIA-TT 7 2

YT
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Tovar T & T Sat W SR
Wﬁ?ﬁ% Im%waﬁﬁ?ﬂ?ugu RrehEd ISR & | 9gel I8 T
A R A ag fopan o fob wameh guifeat @ fuer & sg 99 feufa
A= B S @ IRG 99§ f9ew o 48 W SHHG-SU8 R S | 38 g0
TEl foha T | gEd, G 370 o g A R fo gwl oft o | et # T
AT T | 3HY Tl Sl gl J1YET TSI hl SIET TRl e shl "I
331 | dE TR T8 i STt @ foh via & amehl et § o atg drehad W
A BT § 39 T8 1 HEAWTA AlhdIeh SRATE STH-hTHI | &1 =il |
EES R
()  SHHd-EUE ¥ &1 AIE B 2
(i) & 370, FEUd T I fhg TR 61 TRl HTad St g 2

(iii)  31aawr § faflga ‘wearreh gads’ @ Fraf-aq gedr o1 guH HIT |

Study the passage given below and answer the questions that follow :

Earlier, women’s groups working on issues of domestic violence,
the custom of dowry, sexual abuse at work and public places were active
mainly among urban middle-class women in different parts of the
country. Their work led to a realisation that issues of injustice to women
and of gender inequalities were complicated in nature. During the decade
of the eighties women’s movement focused on issues of sexual violence
against women — within the family and outside. These groups ran a
campaign against the system of dowry and demanded personal and
property laws based on the norms of gender equality.

Questions :

1) What is meant by ‘gender inequality’ ? Give any two examples of
social evils related to this.

(i1)  Suggest any two measures to eradicate gender inequality.

(iii) Mention any two issues of injustice to women. What is the most
effective way to address these issues ?

OR
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section, mostly Kashmiris, believe that the autonomy

conferred by Article 370 is not enough. A section of Kashmiris have
expressed at least three major grievances. First, the promise that
Accession would be referred to the people of the State after the situation
created by tribal invasion was normalised, has not been fulfilled. This
has generated the demand for a ‘Plebiscite’. Secondly, there is a feeling
that the special federal status guaranteed by Article 370, has been eroded
in practice. This has led to the demand for restoration of autonomy or
‘Greater State Autonomy’. Thirdly, it is felt that democracy which is
practised in the rest of India has not been similarily institutionalised in
the State of Jammu and Kashmir.

Questions :
1) What is meant by ‘Plebiscite’ ?

(ii))  What type of autonomy does the Article 370 ensure to the State
concerned ?

(iii) State the incident referred to as ‘tribal invasion’ in the given
passage.

34. id g THWE BH & UvEM, -RUS IMaled hl TERRAT I HoAThd
I | 6

HAAAT
gifaard 99 o faged o forral ©: HRoN 1 fagayor hifse | 6x1=6
Evaluate the relevance of the Non-Aligned Movement after the end of the
Cold War.
OR
Analyse any six causes of the disintegration of the Soviet Union.
35. ‘T ° w1 AMUE 7 ? 9 Wik o 7 H T hl SATEAT HIWT | 2+4=6
AAAT

AT F9 I HA-H @A W TH Fdd JAE & SIS S @ ?
ST HITT | 6

What does ‘hegemony’ mean ? Explain hegemony as a hard power.

OR
Which features of the European Union make it a highly influential

regional organisation ? Explain.
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